

Revelry Event Designers 3604 Medford St. Los Angeles, CA 90063 (323) 263-1657

IN-0006319

PARDI EVENTS

06/29/2023 09:00 AM Delivery day 1	PO:
06/30/2023 05:00 PM 1st event day	Shipping Address:
06/30/2023 11:30 PM Change Over and 1st	Beverly Wilshire Hotel
Strike	,

Invoice Date: Due Date: Upon Receipt

Salesperson: Romina Manolio

07/01/2023 07:00 PM | Strike everything

Description		Qtty	Price		Total
on hold					
A	Dining Chairs - Bali - Wood & Cane Back	40	\$28.00	Т	\$1,120.00
			Total on hold		\$1,120.00
Champagne roo	om- Synagogue				
	Bars - Chicago - Wood 6' In white Back and sides covered With step & torah holder.	1	\$840.00	Т	\$840.00
	Misc - Wooden Mirrored Armoire in white No Mirror gold handles	1	\$224.00	Т	\$224.00
	Pedestals - Chicago - Rectangular	1	\$162.40	Т	\$162.40
	Tota	al Champagne room- Synagogue		gue	\$1,226.40
Le Grand Trianc	on - Meals shabbat Dinner				
	Bars - New York - Folding 6' Painted Frame in Champagne Same front as Mechtiza Painted in Blue	2	\$896.00	Т	\$1,792.00
	Barback - Nantucket - Wood Large Painted in Champagne	2	\$246.40	Т	\$492.80
	Barback - Bora Bora - Gold (3 Piece Set) For dessert	2	\$179.20	Т	\$358.40
	Club & Lounge Chairs - Madrid - Channeled Off White Boucle W/ Wood Trim	2	\$224.00	Т	\$448.00

Description		Qtty	Price		Total
R	Club & Lounge Chairs - Oslo - Club Chair Ice Blue W/ Wood Legs	2	\$280.00	Т	\$560.00
The second second	Accent Table - St. Tropez - Twisted White Faux Marble	2	\$123.20	Т	\$246.40
E.M.	Accent Table - St. Tropez - Large Faux Marble Kidney	2	\$112.00	Т	\$224.00
	Dining Chairs - Aspen - White Wash W/ Oatmeal Linen For Rectangular Tables	50	\$28.00	Т	\$1,400.00
A	Dining Chairs - Bali - Wood & Cane Back For Round tables	20	\$28.00	Т	\$560.00
, M	Dining Chairs - Siena - Whitewash Wood Serp Tables	40	\$28.00	Т	\$1,120.00
	Dining Tables - Siena - Round Wood For dessert	1	\$560.00	Т	\$560.00
	Dining Tables - Siena - With Custom Made 60" Wood Top	2	\$1,008.00	Т	\$2,016.00
	Dining Tables - Siena - Custom 8'x40" Rectangular	5	\$1,008.00	Т	\$5,040.00
	Dining Tables - Siena - Custom 8'x40" Rectangular	1	\$1,008.00	Т	\$1,008.00
	Dining Table - Monaco - Brass Base 12' Diam Wood Painted in TBD	2	\$504.00	Т	\$1,008.00
	Custom Made Table Cloth	2	\$560.00	Т	\$1,120.00
	Stand up Siena - Re used for dessert	2	\$0.00	Т	\$0.00
	Total Le Grand Ti	rianon - M	eals shabbat Din	ner	\$17,953.60
Le Petit Trianon					
	Bars - Tahoe - Reclaimed Wood Folding 6' With Custom Laser Cut Front Color TBD for the laser cut	2	\$504.00	Т	\$1,008.00
	Garden Bars - Jardin Du Champ Elysees - Hedge Straight 6' Folding Wood Top Painted. White Used for Food Stations	7	\$560.00	Т	\$3,920.00

Custom Made- Garden Bar Jardin Du Champ Elysees -	1	<u>01 (00 00</u>		
hedge Straight 6' Folding		\$1,680.00	Т	\$1,680.00
Wood Top Painted White Matching Existing Ones for Food Stations				
Barback - Santorini - Small Floating Shelves W/ Inserts Painted in A Taupe and or Natural Color 3 for Food display	3	\$246.40	Т	\$739.20
Stand Up Tables - Fiji - Round OPtion 1	2	\$308.00	Т	\$616.00
Stand Up Tables - Siena - Round Wood option 2	2	\$308.00	Т	\$616.00
Stand Up Tables - Shanghai - Rounded Natural Wood option 3	2	\$134.40	Т	\$268.80
4'x8'H Hedge Champagne wall	3	\$672.00	Т	\$2,016.00
Custom Made logo for Champagne Wall	1	\$168.00	Т	\$168.00
Sofas - Bruges - Round Left - Nude Boucle Only Used the Straight Piece not Chaise	1	\$252.00	Т	\$252.00
Sofas - Bruges - Round Right - Nude Boucle Only Used the Straight Piece not Chaise	1	\$252.00	Т	\$252.00
Coffee Tables - Monaco - Irregular Brass	1	\$280.00	Т	\$280.00
Accent Pillows - Knot Pillow - Boucle Ball - Baby Blue	2	\$24.64	Т	\$49.28
Accent Pillows - Knot Pillow - Boucle Ball - Yellow	2	\$24.64	Т	\$49.28
Accent Pillows - Pintuck - Mustard Yellow Chenille	2	\$24.64	Т	\$49.28
Ottomans - Standard Pod	4	\$33.60	Т	\$134.40
		Total Le Petit Tria	non	\$12,098.24
	Painted in A Taupe and or Natural Color 3 for Food display Stand Up Tables - Fiji - Round OPtion 1 Stand Up Tables - Siena - Round Wood option 2 Stand Up Tables - Shanghai - Rounded Natural Wood option 3 4'x8'H Hedge Champagne wall Custom Made logo for Champagne Wall Sofas - Bruges - Round Left - Nude Boucle Only Used the Straight Piece not Chaise Sofas - Bruges - Round Right - Nude Boucle Only Used the Straight Piece not Chaise Coffee Tables - Monaco - Irregular Brass Accent Pillows - Knot Pillow - Boucle Ball - Baby Blue Accent Pillows - Knot Pillow - Boucle Ball - Yellow	Painted in A Taupe and or Natural Color 3 for Food display 2 Stand Up Tables - Fiji - Round OPtion 1 2 Stand Up Tables - Siena - Round Wood option 2 2 Stand Up Tables - Shanghai - Rounded Natural Wood option 3 2 4'x8'H Hedge Champagne wall 3 Custom Made logo for Champagne Wall 1 Sofas - Bruges - Round Left - Nude Boucle Only Used the Straight Piece not Chaise 1 Sofas - Bruges - Round Right - Nude Boucle Only Used the Straight Piece not Chaise 1 Coffee Tables - Monaco - Irregular Brass 1 Accent Pillows - Knot Pillow - Boucle Ball - Baby Blue 2 Accent Pillows - Knot Pillow - Boucle Ball - Yellow 2 Ottomans - Standard Pod 4	Painted in A Taupe and or Natural Color 3 for Food display2\$308.00Stand Up Tables - Fiji - Round OPtion 12\$308.00Stand Up Tables - Siena - Round Wood option 22\$308.00Stand Up Tables - Shanghai - Rounded Natural Wood option 32\$134.404'x8'H Hedge Champagne wall3\$672.00Custom Made logo for Champagne Wall1\$168.00Sofas - Bruges - Round Left - Nude Boucle Only Used the Straight Piece not Chaise1\$252.00Sofas - Bruges - Round Right - Nude Boucle Only Used the Straight Piece not Chaise1\$252.00Cuffee Tables - Monaco - Irregular Brass1\$280.00Accent Pillows - Knot Pillow - Boucle Ball - Baby Blue2\$24.64Accent Pillows - Pintuck - Mustard Yellow Chenille2\$24.64Ottomans - Standard Pod4\$33.60	Painted in A Taupe and or Natural Color 3 for Food display2\$308.00TStand Up Tables - Fiji - Round OPtion 12\$308.00TStand Up Tables - Siena - Round Wood option 22\$308.00TStand Up Tables - Shanghai - Rounded Natural Wood option 32\$134.40T4'x8'H Hedge Champagne wall3\$672.00TCustom Made logo for Champagne Wall1\$168.00TSofas - Bruges - Round Left - Nude Boucle Only Used the Straight Piece not Chaise1\$252.00TCoffee Tables - Monaco - Irregular Brass1\$280.00TAccent Pillows - Knot Pillow - Boucle Ball - Baby Blue2\$24.64TAccent Pillows - Pintuck - Mustard Yellow Chenille2\$24.64T

Description		Qtty	Price		Total
	Dining Table - Siena - Rectangular 8'x40" Re Used 3- For Buffet and 3 For Dining	6	\$0.00	Т	\$0.00
	Dining Table - Monaco - Serp Re used for Buffet tables	2	\$0.00	Т	\$0.00
	Dining Table - Siena - Round - 72" Original Tops Keep Bases Change top to originals	6	\$0.00	Т	\$0.00
	Dining Chairs - Bali - Wood & Cane Back Re used from Night Before On round tables 72" Round	60	\$0.00	Т	\$0.00
A	Dining Chairs - Bali - Wood & Cane Back Extra Dining Chairs For Round 72"	15	\$28.00	Т	\$420.00
	Dining Chairs - Aspen - White Wash W/ Oatmeal RE used from Night Before on Dining Tables Round with Linens	50	\$0.00	Т	\$0.00
	Dining Chairs - Aspen - White Wash W/ Oatmeal Linen To Be used in Dining Tables Round W/ Linen	15	\$28.00	Т	\$420.00
	Dining Chairs - Toronto - White Boucle For Rectangular table Caps	б	\$28.00	Т	\$168.00
	Dining Chairs - Siena - Whitewash Wood Re used from night before on Rectangular tables	30	\$0.00	Т	\$0.00
	Total Le ç	Le grand Trianon - Furniture option			\$1,008.00
Services					
	Delivery Thursday	6	\$600.00		\$3,600.00
	Change Over 11 PM Friday	6	\$600.00		\$3,600.00
	Strike Saturday	6	\$600.00		\$3,600.00
	Transportation	3	\$400.00	Т	\$1,200.00
	Manager On Site & Diagrams	1	\$3,500.00		\$3,500.00
	Packing Sup & Misc	1	\$750.00		\$750.00

Please make checks payable to Revelry, Inc.	Total Products:	\$33,406.24
Note: Prior to deliveries and pick-ups all invoices must be pay in full Please ready the contract and sign it Notes	Total Labor/Services/Misc:	\$16,250.00
	Taxes :	\$3,287.59
	Discounts:	(\$0.00)
	Total:	\$52,943.83
	Payments:	(\$0.00)

Balance: \$52,943.83